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HOMEWORK 8-5

See the graphs on the following slides...
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1. Graph f{x)= cos(x}+1 for -m < x <. Show allwork as done in closs
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2. Graph f{x] === B for 0 <x <2z. Show all work as done in class.
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raph f{x] = —sin[x g) for 0 <x < 2n. Show allwork as done in class.
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3. Grapth%% for 0 < x < 2n. Show all work as done in,class.
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3. Graph f{x)= cosgx +—|-2 for 0 <xs2n. Show all rork as done in,class,
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4. (*] On the set of axes below, graph one | cycle of a cgsine function with amplifude 3, period %.
midline y = -1, and passing through the poini (0, 2). ' {Uulk = %2— _-,-_'ZTI'( %
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Day é: Writing Equations of Trig Graphs
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Vertical Shifts

flx) =Acos (@x) +k flx} =Asin{ex) +k

where kis the M!d'lf\g fo‘l'l ((l SL“'FF

Example
The number of visitors at a resort rises and falls during the year according to the

accompdanying grc:ph Determine an equation of this graph in terms of the
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Writing equations of Trig Graphs
flx) =Acos (ax) +k ar flx) = Asin [@x) +k

It each of the following graphs represents a vertical franslation of basic sine or
cosine curve, write an equation of the translated graph shown:
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3. Regents Question: January 2017

Which graph represents a cosine function with no
horizontal shift, an amplitude of 2, and a p:rlod of

) C3c|c_ of cosine
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Regents Question:

4.

d. V=120sin(t)
C. V=120sin(60t)

120V : Ay

The voltage used by most households can be modeled by a sine function.

" The maximum veoltage is 120 volts, and there are 40 cycles every second
Which equation best represents the value of the voltage as it flows
through the electric wires, where t is the time in seconds?

b. V=120sin(60t)

Q9 v-120sna20m)
60 eycks = |seeond
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5..An athlete was having her blood pressure monitored during a workout.
Doctors found that her maximum blood pressure, known as systolic, was 110 and
her minimum blood pressure, known as diastolic, was 70. If each heartbeat
cycle takes 0.75 seconds, then determine a sinuscidal model, in the form
f(t)= Asin(Bt)+ C, for her blood pressure as a function of time 1 in seconds.
Show the calculations that lead fo your answer.
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G.The percentage of the moon’s surface that is visible to a person standing on
the Earth varies with the time since the moon was full. The moon passes through
a full cycle in 28 days, from full moon o full moon. The maximum percentage of
the moon's surface that is visible is 50%. Determine an equation, in the form
P(f)= Acos(Bt)+C for the percentage of the surface that is visible, P, as a
function of the number of days, 1, since the moon was full. Show the work that
leads to the values of A, B, and C.
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